T Hajch o Hqd oi==(1) i =(2) H2
o A ELS 0 0 0 X9
A A ELS 9,244 9,244 zel
SHA| 9,244 9,244
2. DP4YE 7o WHE 7| 2
(1) 2l ERHAH LGBHEr, &tad A A
(2) g8 : 20139 022 28Y
(3) 201+ 20164 028 25¢
(4) & &I ZEFIt 20134 028 27LOIR™ 3 29| 2t I EAAS FIte| MEBR
(5) 2 BEINEFIt 2016 028 23YOIW™ 3 Yo 2t I EAAS HIte| M&BR
(6) FOtoI2  ZEJNEFO ZHY OFRE EHBINEFI Z2HLMA
(7) FOAANSH LA A B2
1L st =H EF A 2L
MIT =248
24.00 36749
o
12 L 18w
8.00¢ O 1274
2|
1.00% L oW gn
=1
S0 100

70 80 85
20| Z 242 o] 712742

3. AlLtE| 2 Hof of3t 2ol

4. A|C2 A3 00 (VaR : 99%, 102)

OHOI CHA-0fl &



T Hepoh & Hej g8 o 4~(1) = (2) EEX|H(1-2) H[2

AP E] ELS 0 0 0 e
A A ELS 1214 1214 zel
A 1,214 1,214

2. THUNE Aol e 17| 2Tz

3. 2T A d =I5 A
M= o=

=1 oo e - - - - 2 7H 2
i i {
1= osse - SO =
14 .come § et SN : : Saoh
i 1
Aaners e 1 : & s a=TH
Tao=e } - - . 1= 7H
s.ss5%e | - 1 % L = FH S
So £ 100

a E T e 2T el A= b
2. SEr == SF ok =<l 2ol ols=s =2 S5

| El=—ay =

XTI e o = Sl= x| &t
= s = s
= o] =t

0—1—?7-»-7» ————— 21.90%:

3. ALtz o]l oot 2HT o

4. F|Cj£& A2 (VaR : 99%, 10Y) s

OHOI CHA-0fl &



& Hepoh & Hej g8 o 4~(1) = (2) EEX|H(1-2) H[2
A =4 ELS 0 0 0 X9
A A ELS 1,078 1,078 zel
a7 1,078 1,078
2. DP4YE 7o WHE 7| 2
1. 2= =714 == A
AR =2 -
1m9s T =6 TH =
|
1ses T SOFH =
129 4+ - : =7l =
pr— 18 7H =
S A1=7H =
=39 = 7H =
o =0 =5 S0 =25 2100
===l s=TF=gd cHOl Fias =3
2. ey == =S=S95EK =SE 270l ol & E S5

—

A T =2 =
-

{ 183

-
HE=FIETE Chl ZIE

3. ALtz Hofl 2B

¥

= E= = or R on
= of st =

DR RS R

4. F|Cj£& A2 (VaR : 99%, 10Y)

= x|k 2F Ofr— = 7|
== X} &F O] 2f &= == =} Of
=] = > = ¢ = =j
S59s O] TF = o= =} =t ©F
=Ho| U= S

(2l

43

OHOI CHA-0fl &



